Keeper 1.4 - Composition, Exponentials and Logs
The Algebra of Functions
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4. Find the value of the following without

Logarithmic Properties

Product Rule log,(xy)=log,x+log, y

. X
Quotient Rule loga(;)= log, x—log,y
Power Rule log,x? = plog, x
Change of Base Rule log, x= log, x
log, a

Equality Rule If log,x=log,y thenx=y
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using a calculator.
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6. Express as a logarithm of a single
expression.
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7. Expand the following logarithms.
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Solve the following equations
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Evaluate the expressions with no calculator.
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